CONTRACT SUMMARY INFORMATION

Summary: Janitorial Services for Century Link Sports Complex/Hammond Stadium

Purchase is made in accordance with the terms and conditions of Lee County Solicitation No. IFB150060.

Solicitation No.:	IFB150060				
Project Title:	Janitorial Services for Century Link Sports Complex/Hammond Stadium				
Contracts Analyst:	Jennifer Brewer-Dano				
Start Date:	March 1, 2015				
Expiration Date:	April 30, 2019 2-Month Extension				
Board Date:	December 19, 2017				
Blue Sheet No.:	Agenda Item Report No. 13				
Term:	One year				
Renewal Options:	Four additional one-year periods				
Address Book No.:	190904				
Awarded Vendor:	Franky Tisdale Cleaning, Inc.				
Contact Person:	Franky Tisdale				
Phone No.:	(239) 693-2056				
Fax No.:	(239) 693-3003				
Cell Phone/Pager No.:	(239) 225-5048				
Email:	<u>TTisjoe@juno.com</u>				
Local Business Tax No.:	9801458				
Local Vendor Preference Used: N/A					

Notes: Award Details Below

PRICING

SECTION A

EVENTS:

All references to attendance and quantity are for bid calculation and evaluation purposes only; no guarantees are expressed or implied.

Area/Location	Cost per persor	<u>n</u> X	Attendance	=	Total
Stadium Spring Training	\$ 110	X	9300	=	\$ 1023.00
Stadium Other Events	\$,954	Х	500 - 1500	=	\$ 425.00
·	\$.654	Х	1500-5000		\$975.00
	s <u>. 254</u>	Х	5000+	=	\$1250.00
Other Non-Stadium Events	\$.854	Х	500-1500	=	\$ 425.00
	\$.654	X	1500-5000	=	\$ 975.00
	s · 254	Х	5000+		\$ 1250.00

TOTAL COST: 4.323.00

SECTION B

RESTROOMS:

<u>All references to quantity are for bid calculation and evaluation purposes only; no</u> guarantees are expressed or implied.

PROVIDE A SINGLE COST PER RESTROOM PRICING/RATE FOR EACH AREA/LOCATION LISTED BELOW.

Area/Location	Cost per restroom	QUANTITY		Total
Maintenance Building	\$ 6.00	X 2	=	\$12.00
Minor League Building	\$7.00	X 2	11	\$ 14,00
Softball Complex Building	\$ 8.00	x 2	=	\$ 76.00
Academy Outside	\$1.00	X 2	=	\$14.00
Press Dining	\$ 6.00)	K 1	=	\$ 6.00
Ticket Office	\$_6.00	K 1	=	\$ 6.00
Stadium Handicap	\$ 6.00 2	K 4		\$ 24.00
Concourse (Men)	\$ 3 5.00 2	X 2	=	\$70.00
Concourse (Women)	\$ 35,00	Κ 2	=	\$ 70.00
Concourse Small	\$ 25.00	K 2	-	\$ 50.00
Family (All)	\$ 12.00	Κ 4		\$ 48,00
Center Field	\$10,00	X 2	=	\$ 20.00
Stadium Inside	\$ 10.00	X 2	=.	\$26.00
Stadium Outside	\$ 12.00	K 4 ·		\$48.00
3rd & 4th Floor (1st base Location	on)			
Stadium Outside	\$10.00	K 2	=	\$ 20.00
3rd Floor (3rd Base Location)				
Stadium Middle (3 rd Floor)	\$ 10.00	X 2	=	\$ 20.00
First Aid Room	\$ 6.00	X 1	=	\$ 6.00

TOTAL COST: \$464.00

TOTAL OVERALL COST FOR ALL SECTIONS: \$ 6787.00

OPTION A:

Male Attendant for Stadium Restrooms \$ 160.00 (NEGOTIABLE)

OPTION B:

Female Attendant for Stadium Restrooms \$ 160.00 (NEGOTIABLE)

OPTION C:

Cost to clean added space, items, or events with under 500 attendees etc... \$ 25.00 Hourly (NEGOTIABLE)

OPTION D:

Hourly cost to pressure wash \$ 25,00 (NEGOTIABLE)

OPTION E:

Cost for events cleaning (Section "A" &"B") with County Supplying all equipment \$______(NEGOTIABLE)